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A £ 0l & AF & S

Al A

¥ 2 Olfd=oy At
el Dleds 338 (SH9 H2)
SN - B SRABH) - HPAY - BES 0l &y |l 8 o tmE==T
OfcH& =t 21,798,444 18,859,571 2,938,873
= 841,000 841,000 0
[as 2,300,000 2,300,000 0
CH 140,000 102,000 38,000
< 3,471,030 3,471,030 0
i 15,046,414 12,145,541 2,900,873
o8 OlcHEAE dat 1,869, 194 357,194 1,512,000
Oleh&ef 348 1,869, 194 357,194 1,512,000
OlcH&ef 348 121,952 111,952 10,000
207 SA5HE ] 110,000 100,000 10,000
01 ¢12EHYl 110,000 100,000 10,000
OO0lfde A2
33 110,000,000& 110,000 100,000 10,000
CAITHY SHAIR2 1,500,000 0 1,500,000
401 AlZHIL 2] 1,500,000 0 1,500,000
01 Al 1,500,000 0 1,500,000
OZAITHY SHAIXIF SXI0HH 1,500,000 0 1,500,000
SESAHNEZH 23 32,242 30,242 2,000
201 Let2 3| 7,000 5,000 2,000
01 Al2telsl 7,000 5,000 2,000
OSESUANHLH 29
338 7,000,0002 7,000 5,000 2,000
NegHds 10,530,596 10,508,596 22,000
= 663,000 663,000 0
& 3,345,860 3,345,860 0
= 6,521,736 6,499,736 22,000
NeAgEI gt 24 2,591,736 2,569,736 22,000
< 70,000 70,000 0
i 2,521,736 2,499,736 22,000
SEdE =23 2l 74,120 52,120 22,000
101 Q1244 7,000 0 7,000
M IRINZZ2 RS2+ 7,000 0 7,000
Oty JIZHHZ 24 el2t] 7,000 0 7,000
201 LerE 3| 57,120 52,120 5,000
2 ss=23Hl 49,920 44,920 5,000
OAle & &HI=X 23 19,200,000 19,200 14,200 5,000
401 AlZHIL 20 10,000 0 10,000
01 A2 10,000 0 10,000
OSEcHHE AldsE 22 10,000 0 10,000
=d dEAE =X 3,627,752 3,622,752 5,000
[as 2,300,000 2,300,000 0
= 1,327,752 1,322,752 5,000
=d MEAY = 3,627,752 3,622,752 5,000
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M 2 d=AY =
ol 28 dEAY =3 (SH9 H2)
SN - BE - SRA(SIH) - NIRAY - BES O] a0 ol & o blnE2
s 2,300,000 2,300,000 0
= 1,327,752 1,322,752 5,000
22 MU 018 Z2XME ZM(XE+=2XEXH) 3,606,000 3,606,000 0
= 2,300,000 2,300,000 0
= 1,306,000 1,306,000 0
401 AlEBIYL LY 3,606,000 3,606,000 0
= 2,300,000 2,300,000 0
= 1,306,000 1,306,000 0
01 Al&HI 3,500,000 3,506,000 26,000
OMtHE8Z 08 Z2XE &4
&% 83,500,000,000& 3,500,000 3,506,000 26,000
z 2,300,000 2,300,000 0
= 1,200,000 1,206,000 26,000
03 Al 20HHI 6,000 0 6,000
OMUis2 OISEZNE AlZ20Y]
6,000,000& 6,000 0 6,000
it = - 2 I NEE SEAMY 21,752 16,752 5,000
202 Ot 13,752 8,752 5,000
01 =LH0d 13,752 8,752 5,000
OX A=A Z& 13,752,000 13,752 8,752 5,000
olpgEArY =X 1,170,672 1,515,672 A345,000
= 114,000 114,000 0
[ 122,200 122,200 0
= 934,472 1,279,472 A345,000
el g 971,252 1,376,252 405,000
= 100,000 100,000 0
< 116,600 116,600 0
i 754,652 1,159,652 405,000
QIRLARA SEXNZAIY S2(+=2F 22X, #H 65,000 30,000 35,000
S HASTIALY)
401 Al&BIL S THYI 45,000 30,000 15,000
01 Al£ZHI 45,000 30,000 15,000
== 2&X, FF22ES S o
ElcIOf 15,000 15,000
405 AtatE = 20,000 20,000
01 ML ESFSHI 20,000 20,000
O==gd 22X, JH22EY SN =
= 7Y 20,000 0 20,000
IRAERI| S 5,000 445,000 440,000
201 2Bl 5,000 445,000 440,000
2 S22l 5,000 445,000 2440,000
Ol AXS A -z - Y €23
29 &3 5,000,000 5,000 445,000 A440,000
FEggng & ASHe 199,420 139,420 60,000
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A QALY =2
Sl HuEdzolg & As25| (EEEE))
SA - B BR(S) - HRAY - BAS o vy ol H o HImS2
= 14,000 14,000 0
< 5,600 5,600 0
i 179,820 119,820 60,000
ore 8 FEXZAME 105,300 45,300 60,000
402 QIZERHE0I M 60,000 0 60,000
01 QIZEXHE2 AR 2 2 (KM THE ) 60,000 0 60,000
Oustg H4d = X2 AR (2X)
15,000,000 *4JH 2~ 60,000 0 60,000
NgAgUHE = 162,000 124,000 38,000
cH 140,000 102,000 38,000
i 22,000 22,000 0
eAZUs =& 162,000 124,000 38,000
cH 140,000 102,000 38,000
i 22,000 22,000 0
ANLABUHSIZ EMMEOI=XAEH) 162,000 124,000 38,000
cH 140,000 102,000 38,000
o 22,000 22,000 0
307 QI2t01™ 68,000 30,000 38,000
CH 68,000 30,000 38,000
02 QIZHLAIHE L 38,000 0 38,000
OXNZLASUSHE 2 (KEABUHS HAH
Ared) 38,000 0 38,000
cH 38,000 0 38,000
HMSSHA 2= 1,598,891 1,613,891 15,000
= 64,000 64,000 0
< 400 400 0
= 1,534,491 1,549,491 15,000
HMSHET Al 2435t 628,684 643,684 15,000
= 64,000 64,000 0
o 564,684 579,684 15,000
NS BE=E 2435 X3 A 88,000 103,000 15,000
= 14,000 14,000 0
o 74,000 89,000 A 15,000
201 ZEH2 & 64,000 79,000 ~15,000
01 AFR-2t2ltl 60,000 75,000 215,000
O1lakz SEIA OF3HHIO
ZE 02 0 15,000 A 15,000
WELMEL FX 400,000 0 400,000
WRUBHEES =2 400,000 0 400,000
WELHESL 2 400,000 0 400,000
201 2Et2 & 200,000 0 200,000
01 AFR2t2ltl 200,000 0 200,000
Ollary AEg|gE MENS Y & 29 100,000 0 100,000
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HE: PNRKYMER EX
ol SRS A (SH9 H2)
M- SA(3) - MRAY - BES Ofl &kl I & A Hlns
OZ=1 U4 2BXs g2 UXE uUs 100,000 0 100,000
308 RIXISHHISOIE 200,000 0 200,000
00 XICHSHO CHEr BAE R 200,000 0 200,000
QUSYHET HEHH S A 200,000 0 200,000
CHZ 29 1,593,700 317,000 1,276,700
SBCAE 29 1,593,700 317,000 1,276,700
WARRIC A HE 1,590,700 314,000 1,276,700
201 LEH29Y| 247,800 59,000 188,800
01 Al22t2|H| 247,800 59,000 188,800
OF T A AIAE ATEIN 22X 154,000 0 154,000
-HE2 N JINEES S 154,000 0 154,000
OMBTA MARC ZH| & Hel=e
1,74024%20,000A 34,800 0 34,800
207 APIHE| 56,000 0 56,000
02 MADHZH] 56,000 0 56,000
OTZETAHZ EHOIX 2= 56,000 0 56,000
401 AlEHI L] 253,600 82,000 171,600
01 Al&HI 253,600 82,000 171,600
OICTAIARI=(2)|HE 2) 0 82,000 A82,000
-CIXE FAOIEAAE (A2 0= Ot
2 EY) 38 0& 0 16,000 216,000
-CIXIE AMM AlAE 3% o 0 25,000 A25,000
-H2S5 AIAE 33 0¥ 0 20,000 A20,000
-CIXIE O QHLH AlAE A 0 0 11,000 A11,000
-AQDIE OICI0 Zy(az 8 S4)
33 0™ 0 10,000 10,000
OICTAIAHRZ(R2)|HE B) 82,000 0 82,000
-ADE SEUHY AIAE 29,700 0 29,700
-A0E DICI Ty (a2 S8 F4 13,800 0 13,800
-2EHIX SEae| AIAE 38,500 0 38,500
OICTAIAE =(2X}) 171,600 0 171,600
-CIXIE APA AAE(LBHE)
33,000,000 +1CH 33,000 0 33,000
-CIXIE ALA AIAE(O{2I018)
29,700,000 +1CH 29,700 0 29,700
-CIXNEY FUOIEAIAR(ZA2E 0|2 QY
2 E8) 17,600,000 %2CH 35,200 0 35,200
-QIHHMEIE M2S3 AAE(K0IE)
22,000,000 1CH 22,000 0 22,000
-AQIE SEHole AlAE
29,700,000 *1CH 29,700 0 29,700
-CIXg Zd0] 22h2=(R018)
22,000,000 1CH 22,000 0 22,000
405 KHAHE SH| 1,028,300 168,000 860,300
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e SsEAE 29 (SH9 H2)
A -3 - GRA(3) - ARAY - BES Ofl &2y I3 ] ImE=r",
01 ML= FHSHI 628,300 168,000 460,300
OZEE M2 AIAE F=(2X1) 132,000 0 132,000
-, VIL, LT0 S 99,000 0 99,000
-FYEEEX, g2 33,000 0 33,000
OZETAM2 NSSAILE 2AF 129,300 0 129,300
-RFID At EOIATERIH/2H0IE DI
2,600,000 2CH 5,200 0 5,200
RFID = XIQHEILY 15,000, 000 =2CH 30,000 0 30,000
—RFID XDt E B 26,000,000 2CH 52,000 0 52,000
-RFID XtotEHED| 16,000,000 = 1CH 16,000 0 16,000
-RFID GlISftHE et 26,100,000 1CH 26,100 0 26,100
OFolsdsL=| 19,000, 0002 = 1CH 19,000 0 19,000
OxZgTAMZ 0IsA MIF L JF7 78 170,000 0 170,000
Ogsaytl 25 10,000 0 10,000
-ARIXI, VPN 10,000 0 10,000
02 A=l 400,000 0 400,000
OMZEN 7 400,000 0 400,000
—LEE A 20,0002 20,0002 400,000 0 400,000
HWe&s(0leHxett) 45,179 6 45,173
EPSONESQIEIRSE D) 45,179 6 45,173
greta 45,179 6 45,173
802 gtet=D|Et 45,179 6 45,173
02 Al - SHIE XSS 45,173 0 45,173
O3 S=H=ZESH 45,106 0 45,106
020234 S=SY=ZESH 0l 34 0 34
O2022-20234 5 A=0H=SAH 01Xt 23 0 23
O3 FAZ 7 LXE SANME 2=
29 Al OIXt 8 0 8
1 0 1




